Politologiya

Bonpoc MHd)O

YBaxKaemMble y4acTHUKH!
OnumnuagHoe 3agaHue No HanpaBneHuto «[MOANTONOMNSI» COCTOUT U3 ABYX YacTel:

MHuBapunaHTHasa YyacTb npefcrasfieHa 3agaHnem N2 1. Ero Hy>XHO BbIMOSIHUTb BCEM YYaCTHMKAM Ha
QHIIUMIACKOM f3bIKE.

BapMaTMBHaﬂ YacTb pa3aesieHa Ha TpeKu:

o Tpek «Monutuka. dkoHoMuKa. dunocodusi»: 3agaHne N2 2 (BbINOSHAETCS Ha aHITIMACKOM 5i3bIKe).

o Tpek «[puknagHasa nonutonorus»: 3agaHne N2 3 (BbINosHAeTCS Ha BbIGOP Ha PyCCKOM M
QHITIMACKOM SI3bIKE).

e Tpek «CpaBHWUTENbHasA NonuTuka EBpasumn»: 3aganme N2 4 (BbINOMHAETCA Ha aHMJIMMCKOM f3bIKe).

o Tpek «AHaNM3 JaHHbIX AN rocygapcTea u obliecTBa»: 3agaHue N2 5 (BbinosiHAeTcs Ha BbIGOp Ha
PYCCKOM WJIN @HTTIMIACKOM SI3bIKE).

Bbl MOXKeTe COCpefoTOUNTLCS Ha 3afaHMAX KOHKPETHOMO TpeKa, YTobbl MpeTeHa0BaTb Ha CTaTyC
avnnomanTa |, Il, [l cTeneHu, unmn noctapaTbCca pewwmnTb 3afaHna No6bIX ABYX TPEKOB Ha BbICOKOM YPOBHE,
YTOGbI NPeTeHAOBaTb Ha CTaTyC MefanucTa no HanpaB/eHUIO.

Bce 3aaHusA BbINOMHSAOTCS B 9TON CUCTEME: pewieHna BHOCUTE B crnelnanbHoe none And OTBETOB.

Mpwn BbINOMHEHMM 3aaHUI Bbl MOXETE N0Nb30BaTbCA No6bIMU OHNlaNH-CNoBapsiMnN 1 OHNanH-
nepeBofuYMKamMun 405 nepeBoja OTAe/bHbIX C/IOB U BbIPaXXEHWUN : MEPEBOZ, LiefbIX NPeaoXeHnn 1
(bpaFMeHTOB TEeKCTa 6yp,eT cUMTaTbCA HapyLleHneMm. Mcnonb3oBaHue APYrnx CTOPOHHUX pecypcoB U
CrpaBOY4HbIX MaTepuasioB CTpPOro 3anpeLeHo.

Bepum B Baw ycnex!

Bonpoc 1
Bann: 50,00

This is a general assignment that is obligatory for all of the participants. Write your answer in English.

Please, read about political trust in the U.S. It is an academic article from a top level academic journal.
(to follow a link, right-click on it and open the link in a new tab/new window. If it doesn't work, copy the hyperink
address and paste it into your browser search box in a new tab)

After reading and rereading the text, you are to write an abstract for this text that is to be around 100-150
words long. You are also to provide coherent answers to four questions. Please make sure that your answers
are detailed enough, if you can include some examples, references to academic literature or useful factual
data, please do so.

1. Steadily declining trust in the U.S. national government from the side of the citizens is a warning sign, and
the authors of the article highlighted the negative consequences that could be expected out of this issue. In
your opinion, taking into account the socio-political context of the U.S., what is the most disturbing outcome of
the lack of political trust there?

2. What is the politics of political trust, and how does it help explain the declining tendency, especially in the
modern USA?
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3. Among the factors for differences in political trust across individuals, contexts, and time, the authors
indicated the role of mass media, but with a disclaimer that these effects "are notoriously hard to identify."
They also mentioned that there is "a sharp decline in people’s trust in the credibility of the media." How do you
think, what are the connections between declining political trust and declining trust in the media (especially
mainstream media)? Do they have an amplyfying effect on each other, or perhaps one is the result of the

other?

4. The authors brought their suggestions about possibilities to rebound the political trust. In your opinion, how

appealing are they, which of them is/are more realistic, and why?

[nsi nofc4éTa c0B HaXXMUTe Ha 3HaK «[TokaszaTb/CrpsTaTh JOMNOAHUTEbHbIE KHOMKM» (

3Hak «Word count» (| £ ).

Bonpoc 2
Bann: 50,00

), 3aTeM Ha

YyacTHukam npepniaraeTcda HanmcaTtb akagemMmyeckoe acce no OfHOM 13 npensiodKeHHbIX TeM. A3bIK

HamnuMcaHusa acce — aHrMUMUCKUNA.

1. Should the bankruptcy of a country be treated in the same way as the bankruptcy of an individual firm?

Similarities and differences between the two situations.

2. Professor of political science Claus Offe (you may know him as a co-author (with Jon Elster et al.) of the
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great book ‘Institutional Design in Post-Communist Societies: Rebuilding the Ship at Sea’) has argued that
legitimate state coercion is a “meta’ collective good”, the “demand” for it has increased because of growing
interdependence, yet this good is in short supply and has even decreased in recent decades. What might be
the causes of this good’s short supply? If you do not share this point of view, you are expected to provide
arguments against it. If you do, you are expected to answer the question.

3. How does competition of jurisdictions (Tiebout model) work? Indicate and explain its political and economic
implications?

4. What types of political culture (according to Gabriel AlImond and Sidney Verba typology dating back to 1963)
exist (or co-exist) in Russia? In what proportion do they exist (co-exist)? Explain your answer by providing
relevant evidence.

5. Globalization has been considered one of the key global processes, but is it still going on at the same pace?
There are other concepts to describe what is happening, like glocalization or deglobalization, but are they
relevant to explain the current trends? How can we characterize globalization today, and does it have new
features because of the growing world disorder?

6. Technological advancement could shape the policymaking process quite significantly, and today there are
attempts to make this process more rational and problem-oriented by introducing algorithms and generative
models. Different services are already successfully transferred online, and e-governance practices are
becoming more and more popular, but to what extent should we exclude humans from policymaking? What is
this borderline that shouldn’t be crossed, or is there no such borderline? What kind of issues and
consequences could we expect from such tendencies?

2024-vysshaya-liga---zaklyuchitelnyy-etap



Politologiya

Bonpoc 3
Bann: 50,00

YyacTHMKaM npefnaraeTcs HanMcaTb akafeMUYECKOe 3Cce Mo OAHON U3 NPeAIOXKEHHbIX TeM. A3bIK
HanucaHus 3cce — PyCCKUIA UM aHMTMIACKUIN .

1. UHTepHET-aKTUBHOCTb KakK MHAMKATOP 06LLECTBEHHbIX HACTPOEHMIA: pro et contra ¢ NosnLUMM NosIMTONOra-
nccneposaTens

2. Kaysaanble CBS131 B NOJINTUYECKON HayKe: 3a4eM U KaK nx BbIABNAATL?

3. Kak pa3BuTMe NCKYCCTBEHHOIO MHTENEKTA NOBMMSAET HA 3NEKTOPasbHble nNpoLecchbl B 6nmxkanwme 5-10
net?

Bonpoc 4
Bann: 50,00
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YuyacTHuKaM npegnaraeTcs HanucaTb akajeMnyeckoe 3cce Nno OJ4HON U3 NPeAsIoXKEHHbIX TeM. f3bIK
HanuMcaHusa acce — aHrNMMUCKUN.

1. Analyze the current development of the political process in one of the post-Soviet countries from the
perspective of Henry Hale’s theory of patronal politics

2. Characterize the international position and strategies of Moldova at the present stage, using theories of
international relations and foreign policy analysis

3. Provide an example of policy learning in the post-Soviet area and characterise how successfully it went

4. Based on the theories and concepts from political science and/or international relations, formulate options
for the resolution of the conflict between Azerbaijan and Armenia

Bonpoc 5
Bann: 50,00

YyacTHMKaMm npeasiaraeTcs BbINoAHWUTL ABa 3agaHua (a) v (6) No oAHOMY BOMPOCY U3 NpeACcTaB/eHHbIX Ha
Bbi6op (Q1, Q2, etc). 15 0TBETOB Ha BONPOCbI, NOXanyncTa, UCNosb3yiTe gaTacer -
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(gna nepexofa no ccblsike HAXXMUTE Ha HEE MPaBKOW KHOMKOWM MbILLX U OTKPONTE CCbIIKY B HOBOM BKNajKe/B
HOBOM OKHe. [1py BO3HUKHOBEHUM NPO6IEM CKOMUPYITE afipec rmnepcchisiku U BCTaBbTE BPYYHYHO B
MOMCKOBYIO CTPOKY 6pay3epa B HOBOM OKHE)

f13blKk OTBETA — PYCCKMIA NI aHTIUACKUM .

[nsa BbINOJIHEHNA 3afaHuit YacTy (6) MOXeT UCMoJib3oBaTbCs Nto6oe NporpaMmMHoe o6ecrneyeHmne, 0aHaKo
pekomMeHzyeTca ncnonb3oBaHne RStudio nnu MeHepxepoB Ans sisbika Python.

PekomeHayeMble OHNalH-MHTepnpeTaTopbl:

Posit Cloud:

Replit:

Q 1 (ebinonHuTe 3agaHus (a) u (6) AaHHOro Bonpoca UK neperguTe K 4pyromy)

3apgaHue (a) Bbl nnaHMpyeTe NpoBeCTM UCCeloBaHUe, MOCBSLLEHHOE MOTVMBAM UCMOJIb30BaHUs
coumarnbHbIX CETel 1 UX CBA3M C hakTopamu cy6beKTMBHOro 6naronosnyuuns. KakoBa 6yfeT Balua ctpaTerust
no oT6opy HabnoAeHuid Anst aHanusa? Kakue TeopeTudeckue Noaxoabl U/Unu aHanMTMYeckme Matepuarbl
MOryT 6bITb UCMONb30BaHbI B 3TOM UccnefoBaHnn? Kakue MeToapl c6opa laHHbIX MOTyT 6bITh
ucnonb3oBaHbl? Kakue 6a3bl JaHHbIX U/Win cTpaTernn c6opa NepBUYHBIX AaHHbIX MOTYT 6bITh
Ucnonb3oBaHbl? Kakve MeTofbl aHann3a aHHbIX pefieBaHTHbI /st JaHHOMO UccnepoBaHus? Kakue
orpaHuyeHus 1 noTeHUUasnbHble NPo6aeMbl CBA3aHbl C UCMOJIb30BaHMEM AaHHOW MeTof010rnm?

3apaHue (6) What are the outliers? What is their effect on the model’s characteristics? Consider the V-Dem
2020 dataset.

Build the OLS model:

« DV: v2x_rule

* IVs: v2x_freexp, v2mecorrpt, v2clacfree

Are there any outliers in this model? Explain, what element(s) of the output helped you to make the respective
conclusion.

Q 2 (BbINonHUTe 3aaaHua (a) u (6) gaHHOro Bonpoca M nepenauTe K Apyromy)

3apaHue (a) Bbl nnaHuMpyeTe NpoBECTU UCCllefoBaHNe, NOCBALLEHHOE BJIMSHUIO reHAepHOoro gaktopa Ha
pasnnumsa Mexay ypoBHAMM Cy6beKTUBHOro 6/1aronosyumns B ctpaHax EBponbl u Asuun. Kakosa 6yget Bawwa
cTpaTerus no otéopy HabnoAeHWit AN aHanusa? Kakue TeopeTuyeckme Noaxoabl U/Un aHanMTuyeckme
MaTtepuasbl MOryT 6biTb UCMOJIb30BaHbl B 3TOM UccefoBaHnM? Kakne Metofbl c6opa AaHHbIX MOTyT 6bITh
ncnosb3osaHbl? Kakue 6asbl faHHbIX /WK cTpaTernn céopa nepBrUYHbIX AaHHbIX MOTYT 6bITh
Mcnosib3oBaHbl? Kakue MeTofbl aHan3a AaHHbIX pefieBaHTHbI 4151 AaHHOMO UccnenosaHua? Kakue
orpaHuyeHus 1 noTeHunanbHble Npo6sieMbl CBA3aHbl C UCMNOJIb30BaHWEM AAaHHON MeTOA0N0rnN?

3apaHue (6) What are the influential observations? What is their effect on the model’s characteristics?
Consider the V-Dem 2020 dataset.

Build the OLS model:

« DV: v2x_rule

* IVs: v2x_freexp, v2mecorrpt, v2clacfree

Are there any influential observations in this model? Explain, what element(s) of the output helped you to make
the respective conclusion.

Q 3 (BbinonHuTe 3agaHus (a) u (6) AaHHOro BOMpoca Un NepeiauTe K Apyromy)

3apaHue (a) Bbl nnaHMpyeTe NpoBECTU UCCTIelOBaHNe, NMOCBSLLEeHHOe haKTopam UCMOb30BaHUS
rpaxxgaHamum NHTepHeT-nopTanos AN NoNyYeHnUs rocyfapCTBeHHbIX YCnyr B pernoHax Poccuun. Kakosa
6yneT Bala cTpaTerusi no otéopy HabntoAeHU anst aHanu3a? Kakue TeopeTuyeckme noaxonpl n/mnu
aHanuTMYyecKme Matepumanbl MOTyT 6biTb UCMOJIb30BaHbI B 3TOM MUccefoBaHumn? Kakme MeTogbl céopa
JaHHbIX MOTYT 6bITb UCMOJIb30BaHbI? Kakune 6a3bl JaHHbIX U/WK cTpaTernm c6opa nepBUYHbIX JaHHbIX
MOTYT 6bITb UCNONIb30BaHbI? Kakne MeToAbl aHanM3a faHHbIX peneBaHTHbl 4151 JaHHOro UccnefoBaHna?
Kakue orpaHuyeHms 1 noTeHumnanbHble NpobsieMbl CBAA3aHbl C UCMOJSIb30BaHWEM AAHHOW MeTOA00rMm?

3apaHue (6) What is heteroscedasticity? What is its effect on the model’s characteristics? Consider the V-Dem
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2020 dataset.
Build the OLS model:
« DV:v2x_rule
« IVs: v2x_freexp, v2mecorrpt, v2clacfree
Is there a problem of heteroscedasticity? Explain, what tests and / or element(s) of the output helped you to
make the respective conclusion. What can be done to solve the problem?

Q 4 (ebinonHuTe 3afaHusA (a) u (6) AaHHOro BOMpOCa UM NepeiguTe K Apyromy)

3agaHue (a) Bbl nnaHMpyeTe NpoBECTM UCCe0BaHNE, MOCBSLLEHHOE CBSI3U LUKO/bHbIX OLEHOK yYallmXxcs ¢
Ha/lMyneM y HUX oMbiTa TpaHCrpaHUYHoi murpauumn. Kakosa 6yfeT Balua cTpaTerusi no otT6opy HabnoLeHui
AnA aHanusa? Kakue TeopeTuyeckre NOAXOAbI U/UNM aHanUTUYecKkne maTepuanbsl MOryT 6biTb
UCMonb30BaHbl B 3TOM UccnefoBaHnn? Kakue MeToapl c6opa flaHHbIX MOryT 6bITb UCMONIb30BaHbI? Kakue
6a3bl JaHHbIX U/UNK cTpaTerum c6opa NEPBUYHbBIX JaHHbIX MOTYT 6bITb UCMOJIb30BaHbI? Kakue MeToabl
aHanu3a JaHHbIX pefieBaHTHbI /151 [aHHOMO UccnefoBaHus? Kakme orpaHuyeHus U noTeHLmanbHble
npo6sieMbl CBA3aHbl C UCTONb30BaHWEM JaHHO METOA0N0rn?

3apaHue (6) Are there signs of multicollinearity in the model? If yes, how does it affect the effects? Consider
the V-Dem 2020 dataset.

Build the OLS model:

« DV: v2x_freexp

+ 1Vs: v2x_rule, v2mecorrpt, v2xnp_regcorr

Is there multicollinearity in the model? Explain, how you figured that out. If there are some signs of
multicollinearity, describe, what should be done to avoid its negative influence on the model? What would be
the final form of the model you would use?

K gaHHoMy 3afjaHuIO y4aCTHUKM MOTYT MPUKPENIATL (aisibl C peLeHUMM, BbIMOJIHEHHbIMY Ha KOMIIbIOTEPE.
3arpysuTb (ais MoXHO B /1H060€ y06HOE BPEMS 40O 3aBEPLUEHUS OJIMMMNAADI.
Ecnu B ¢pavine 6ynet nHpopmaLmsi He OTHOCALLAsICA K 3TOMY 3aZaHUIo, OHa K MPOBEPKE MPUHSTa He 6yJeT.
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